TITAN SASMO

EDUCATION
TAI LIEU ON TAP KY THI SASMO 2023

Section A (Correct answer — 2 points| No answer —  points| Incorrect answer — minus 1 point)

Phin A (Trd loi diing — 2 diém | Khéng trd 167 — 0 diém | Trd l6i sai — TRU 1 diém)
Question 1
What is the value of the following sum?
Hoi gid tri ciia tong dwdi ddy la bao nhiéu?
299 + 297 + 295 + 296 + 298

A. 1494
B. 1490
C. 1485
D. 1484
E. None of the above (Pap an khac)

Question 2

The rectangle below is divided into 6 equal squares and shaded as shown. What fraction of the

rectangle is shaded?

Hinh chit nhat bén dudi duoc chia thanh 6 hinh vuong bcing nhau va dwoc to dam nhw hinh vé.

Hoi phdn s6 chi phan t6 ddgm so véi hinh chit nhdt la bao nhiéu?
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None of the above (Pap an khac)



Question 3
Find the next number in the sequence below.
Tim s6 tiép theo trong ddy sé bén dudi.
1,4,10,22,46,94, ...

A. 190
B. 188
C. 186
D. 142
E. None of the above (Pap an khac)

Question 4
Which one of the following options is a missing piece of the dog’s kennel?

Lya chon nao bén dudi la phan con thiéu trén ngéi nha cua chu cho?




Question 5

In the square below, points E and F are the midpoints of AB and AD, respectively. If the length

of the square is 12 cm, find the area (in cm?) of the shaded region.

Trong hinh vudng dwéi day, diém E va F lan lwot la diém chinh giita ciia AB va AD. Cho biét d¢

dai canh cuia hinh vuéng la 12 cm, tim dién tich (don vi cm?) ciia phcfn to dam.

A E B

A. 72 cm?
B. 54 cm?
C. 36 cm?
D. 18 cm?
E. None of the above (Pap an khac)

Question 6

A number is formed by writing 2022 consecutively for 3 times. Which of the following

statements is correct?
Mot s6 dwoc tao thanh bang cach viét 2022 lién tiép 3 lan. Khang dinh nao dwdi day la diing?

A. The number is a multiple of 3, 6 and 9.
S6 dé chia hét cho 3, 6 va 9.

B. The number is a multiple of 3 and 6 but not a multiple of 9.
S6 d6 chia hét cho 3 va 6 nhiung khéng chia hét cho 9.

C. The number is a multiple of 3 and 9 but not a multiple of 6.
S6 d6 chia hét cho 3 va 9 nhiung khéng chia hét cho 6.

D. The number is a multiple of 3 but not a multiple of 6.
S6 d6 chia hét cho 3 nhung khéng chia hét cho 6.

E. None of the above

Tdt ca cdc dap an o trén déu sai.



Question 7

Angela built a pyramid using identical cubes. The pyramid is shown below from different angles.
Angela paints the whole pyramid in orange colour. How many cubes have exactly 3 sides painted

in orange?

Angela ghép cdc khoi ldp phirong nhé giong nhau dé tao thanh mét kim ti thap. Hinh bén dudi
minh hoa kim ty thdap nay theo ba huwong nhin khdac nhau. Angela son mau cam toan bo kim tw thap.

Hoi c6 bao nhiéu khéi lgp phwong nhé ¢ ding 3 mdt dwoc son mau cam?

VSY

B. 8

C. 16

D. 35

E. None of the above (Pap an khac)

Question 8
How many two-digit numbers are divisible by 3 but not by 6?
C6 bao nhiéu s6 ¢6 hai chit so chia hét cho 3 nhung khéng chia hét cho 6?

A. 14
B. 15
C. 17
D. 30
E. None of the above (Pap an khac)



Question 9

An ant is at one vertex of a cube and can only walk along the edges of the cube. It cannot walk
along any edge more than once. If the length of the cube is 8 cm, what is the greatest distance (in

cm) that the ant can walk before it cannot continue?

Mot con kién dang ¢ mot dinh cua hinh lap phuong va chi co thé di doc theo cdc canh ciia hinh
lap phwong. N6 khéng thé di doc theo bdt ky canh ndo nhiéu hon mét lan. Biét rang d dai canh
ciia hinh ldp phwong la 8 cm, héi quang dwong 16m nhdt (don vi cm) ma con kién c6 thé di dwoc

trieGe khi né khéng thé di tiép la bao nhiéu?

A. 72 cm

B. 64 cm

C. 96 cm

D. 9cm

E. None of the above (Pap an khac)

Question 10
The five-digit number 411A2 is a multiple of 9. What digit does A represent?
S6 ¢6 nam chik s6 41142 1 sé chia hét cho 9. Hoi A dai dién cho chit sé nao?

A. 0
B. 1
C.2
D. 3
E. None of the above (Pap an khac)



Question 11

Amelia cuts a 75 cm by 30 cm rectangle into identical squares without any leftovers. If the length

of the squares is a whole number of cm, what is the least number of squares can she get?

Amelia cdat mét hinh chit nhdt 75 cm x 30 em thanh cdc hinh vuéng giong nhau ma khéng cé bdt ky
phcfn thira ndo. Biét rc%ng do dai canh cua cdc hinh vuong la 6 tw nhién theo don vi cm, héi sé hinh

vuong it nhat ma co day co thé nhan duoc la bao nhiéu?

A. 2

B. 5

C. 10

D. 90

E. None of the above (Pap an khac)

Question 12

The number in an unshaded square is obtained by adding the numbers connected to it from the
row above. What number must be in the square with the question mark?
S6 trong 6 vuéng khéng dwoc t6 dam cé dwoe bang cach c¢éng cdc sé & ngay hang phia trén. Hoi

SO 0 6 vuong co dau cham hoi la bao nhiéu?

A. 3
B. 4
C.5
D. 6

E. None of the above (Pap an khac)



Question 13

Four boys each prepared 1 gift for a party. How many ways can these 4 gifts be distributed among
the 4 kids so that no one receives his own gift?

Bén cdu bé moi ngueoi chudn bi mét phdn qua cho mét budi tiéc. Hoi c6 bao nhiéu cach khdc nhau
dé phan chia 4 mén qua nay cho 4 cdu bé sao cho khéng c6 ai nhdn dwoc ding mén qua ma minh

dd chuan bi?

B. 9

C
D. 1
. None of the above (Pap an khac)
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Question 14

Father came home and found that one of his children had eaten whole cake he put in the fridge.

He asked each of his children who did it, and their responses are shown below.
Andy: Cindy ate the cake.
Bob: Andy ate the cake.
Cindy: Bob is lying.
David: It was not Cindy who ate the cake.
Erik: I did not eat the cake.
If only two of the children were telling the truth, who ate the cake?

Ngueoi cha vé nha va phat hién mot trong sé nhitng dika con ciia minh da an hét cdi banh ma éng
dé trong i lanh. Ong héi tirng ngudi la ai da an banh va cdu tra 16i ciia nhitng diva con dwoc cho
nhu bén dudi.
Andy: Cindy da an banh.
Bob: Andy da an banh.
Cindy: Bob néi doi.
David: Khong phai Cindy da an banh.
Erik: Con khong an banh.
Biét rang chi ¢é hai dira tré néi thdt, hoi ai da an banh?
A. Andy
B. Bob
. Cindy

C
D. David
E. Erik



Question 15

Five years ago, Jennifer’s age was five times Jason’s age. Now, Jennifer’s age is four times Jason’s

age. How old is Jennifer now?

Nam nam trudc, tuoi cua Jennifer gap nam lan tuoi cua Jason. Hién nay, tuoi cua Jennifer gap bon

lan tuoi cua Jason. Hoi hién nay Jennifer bao nhiéu tuoi?

A. 20
B. 60
C. 80
D. 100
E. None of the above (Pap an khac)
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Section B (Correct answer — 4 points| Incorrect or No answer — () points)

Phén B (Trd loi ditng — 4 diém | Trd 10i sai hodc khéng trd 1oi — 0 diém)

e When an answer is a I-digit number,
shade “0” for the tens, hundreds and
thousands place.

Example: if the answer is 7, then shade
0007

e When an answer is a 2-digit number,
shade “0” for the hundreds and thousands
place.

Example: if the answer is 23, then shade
0023

e When an answer is a 3-digit number,
shade “0” for the thousands place.
Example: if the answer is 785, then shade
0785

e When an answer is a 4-digit number,
shade as it is.

Example: if the answer is 4196, then
shade 4196

e Khi dap s6 14 s6 ¢6 1 chit s6, t6 s6 “0”
cho céac chir s6 hang chyc, hang trim,
hang nghin.

Vi dy: Néu dap sé 1a 7 thi t6 0007.

o Khi dap s 14 s6 c6 2 chit s6, t6 s6 “0”
cho chir s6 hang trim va chir s6 hang
nghin.

Vi du: Néu dap sé la 23 thi t6 0023.

e Khi dap so6 1a s6 c6 3 chir s0, t6 s6 “0”
cho chir s6 hang nghin.

Vi du: Néu dap sé la 785 thi té 0785.
e Khidéap s6 14 s6 c6 4 chit sb, thi to dung

dap sb.
Vi dy: Néu dap s6 la 4196 thi t6 4196.
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Question 16

The graph below shows the number of books Mr Goh sold in a week. All the horizontal lines are
equally spaced. If Mr Goh sold 999 books in total during the week, how many more books did he

sell on Monday than on Sunday?

Biéu dé duwéi day cho thdy sé sach 6ng Goh ban dwoc trong mét tudn. Tat ca cdc dwong nam
ngang thi cach déu nhau. Biét rang 6ng Goh ban dwgc tong céng 999 cuon sdach trong tuan, hoi

vdo ngay thir Hai, 6ng dy ban dwoc nhiéu hon ngdy Chii nhét bao nhiéu cuon sach?

Monday Tuesday = Wednesday  Thursday Friday Saturday Sunday
(Th(r Hai) (Thir Ba) (Th&r Tu)  (Th&' Nam) (Th&rSdu)  (ThrBay) (Chu Nhat)

Number of books
SO’ cudn sach
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Question 17
It is given that

Biét rang

@ x W + & =100
W + é"’ v =33
wtW =14

&0

What does *7% stand for?

Hoi =% bang bao nhiéu?

Question 18

How many triangles are there in the figure below?

Co bao nhiéu hinh tam giac trong hinh dudi day?

Question 19

Randal subtracted 4 from a number and then divided by 5. Andy subtracted 5 from the same

number and then divided by 4. They both got the same answer. What is the original number?

Randal da ldy mét sé triv di 4 réi chia cho 5. Andy ciing ldy sé d6 trir di 5 réi chia cho 4. Ca hai

da co cung dap so. Hoi so6 ban dau la bao nhiéu?
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Question 20

Three boys counted the number of fish in a tank. After counting, they made the following

statements:
Albert: There are at least 15 fish.
Bradd: The number of fish does not reach 15.
Chris: There must be at least 2 fish.
If one of them is correct and the number of fish was not 0, how many fish were there in the tank?
Ba cdu bé cing dém sé con cd cé trong bé. Sau khi dém, cdc cdu bé khang dinh nhw sau:
Albert: C6 it nhdt 15 con cd.
Bradd: S6 lwong cd khéng dén 15 con.
Chris: Phdi cé it nhdt 2 con cd.
Biét rang cé mét khang dinh diing va sé con cd khdc 0, héi c6 bao nhiéu con cd trong bé?
Question 21

Tyler plays a dice game in which he rolls two dice. His score is the larger of the two numbers on
the dice. For example, if he rolls 3 and 5, his score is 5, and if he rolls 4 and 4, his score is 4. He
wins the game if his score is an even number. How many possible rolls will result in Tyler’s
victory?

Tyler tham gia choi mét tro choi xiic xdc, anh dy tung hai vién xiic xdc. Piém cia anh dy la so
I6m hon trong hai s6 twong ieng trén hai mdt tung dwoc. Vi du, néu anh tung dwoc mdt sé 3 va 5
thi diém ciia anh 1a 5, va néu anh tung dwoc mdt s6 4 va 4 thi diém cia anh la 4. Anh dy thang tro

choi néu diém la so chan. Hoi c6 bao nhiéu kha nang co thé dan dén chién thang cua Tyler?
Question 22

Robots are used to assemble cars in a factory. Four robots assemble 13 cars in 15 minutes. If all
robots assemble cars at the same speed, how many cars can 14 robots assemble in 3 hours?

Robot dwoc dimg dé ldp rdp 6 t6 trong nha may. Bén robot ldp rdp 13 chiéc 6 t6 trong 15 phiit.
Biét rang tat ca robot ldp rdp 6 t6 véi téc dd nhw nhau, héi trong 3 gio, 14 robot ¢é thé ldp rdp

dwoc bao nhiéu 6 to?
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Question 23

The figure below is made up of 2 identical squares and a rectangle. The area of the square is 64
cm? and the area of the rectangle is 96 cm?. Points A, B, C and D are on the vertices of the
rectangle and squares as shown. If the breadth of the rectangle is 6 cm, find the area (in cm?) of

the shaded region ABCD.

Hinh dwoi ddy dwoc tao thanh tw 2 hinh vuéng giéng nhau va mot hinh chir nhat. Dién tich hinh
vuéng la 64 cm? va dién tich hinh chir nhdt la 96 cm?®. Cac diém A, B, C va D nam trén cdc dinh
ciia hinh chit nhdt va hinh vuéng nhw hinh vé. Biét rang chiéu réng ciia hinh chit nhdt la 6 cm,

tim dién tich (don vi cm?) cua phdn duoc to dam ABCD.

B

Question 24

) 4 . 3 ) — :
Derrick spent 3 of his money on a toy, > of his remaining money on a book and the rest of this
money on 5 cakes which cost $7 each. How much money (in $) did he pay for the toy?

. ~ 1499 . ) \ R a , 2 .3 % .,.2 \ . X a
Derrick da sw dung 5 50 tién cua minh dé mua mot mon do choi, > S0 tién con lai dé mua mot

cuon sach va phan tién con lai dé mua 5 cai banh voi gia moi cdi banh la 7 do-la. Hoi anh ay da

tra bao nhiéu tién (don vi dé-la) cho mén dé choi?
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Lop 4

Question 25

In the following, all the different letters stand for different digits. What is the value of the 4-digit

number ABCD?

Trong phép todn bén diedi, cdc chir cdi khdc nhau thay thé cho cdc chit s6 khdc nhau. Hoi gid tri

ctia s6 c6 4 chir s6 ABCD la bao nhiéu?

D E C D

END OF PAPER — HET

DAP AN

Section B
Question Answer

16 189
17 9
18 47
19 9
20 1
21 21
22 546
23 80
24 49
25 8301

Section A
Question Answer
1 C
2 D
3 A
4 B
5 B
6 A
7 C
8 B
9 A
10 B
11 C
12 C
13 B
14 E
15 C

15



